MOTHERBOARD

S NN
R
SN

PSU

5

22

o
55552

e

SIDE PANEL

QPPHIQN I BV

% RALINTEK

ALUMINUM MICRO-ATX CHASS

Screw M3 L6 x 8
2.5"SSD

Screw M3 L9.5 x 12

2.5"SSD/HDD

Screw #6-32 L6 X 20

Motherboard/PSU/PCI Card/3.5"HDD

Cable Tie x 10

Screw #6-32 L8.5 x 4

3.5"HDD

Screw 6-32 L6 x 2

VGA Card

BOTTOM FAN

M. N

e

TOP FAN

a

e

S

RADIATOR

o2l ato ot

< Oo oﬁﬁ
Soholo s/

LS et s

PUMP/RESERVOIR



